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211 | =T TIX 24520602001838 stk | 61228 SN — "= (16) R | & SN — SN
212 | =T HTX 24520602001840 sefoltotolsototork 14017 1 TN A5 — rp = (16) ESSiES 5 TN A5 — rp BN B8 —rpey
213 | T FLIX 24520602001843 sepktotokiotskiokk | 2002X SN m= (16) Mg | & SN — SN
214 | AT FNTIX 24520602001846 sk 25 1 302 TN A5 — 2 = (16) i cth '8 TN A5 — 2 BN —pey
215 | M= FLIX 24520602001850 sefoktotokioork2 10025 SN — m= (16) HEE | & SN SN
216 | AT FTIX 24520602001853 wkiokiopkkkk 304093 BN B WA = (16) T 5 BN S By
217 | T FTIX 24520602001854 stk 240182 SN — m= (16) xEZE | % SN — SN —
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218 | M=l ELIX 24520602001856 sopkiotkk 210015 SN — m= (16) myEE | B SN — SN
219 | =i FNLIX 24520602001874 ki 280010 MM Bm= D R | B AW AW
220 | AT FTIX 24520602001884 stk 041903 SN — "= D KIBH | & SN — SN —
221 | H{=TH T X 24520602001885 skt 060 122 BB 5 — v m=Aan {a] Al i MBI —rh2y B — g
222 | =T FTIX 24520602001891 sttt 044092 SN — m= (D JA R A % SN — SN —
223 | AT ENTIX 24520602001892 sefltotoldotiok | 80073 BN G5 —rpey = (D Rk s 5 TN A5 — 2 BN G5 —rpay
224 | T KX 24520602001895 sopkliook ] 24426 SN = AD KT | X SN SN
225 | HAST X 24520602001900 ekl kioek 289083 TN A5 — rp2 m= D L7 '8 TN B E v BN — ey
226 | AT TX 24520602001901 stk 70026 SN B — "= D T | & SN — SN —
227 | AT HTX 24520602001905 sefliotolotiokk070010 SN GE A — ey W= (D e U TN G5 — rp SN G5 —rhey
228 | M= TIX 24520602001908 stk 90032 SN — "= UD PEE | 5 SN — SN —
229 | H{=TH T X 24520602001912 setokioploork014935 BB HI 5 —rh m= Aan R Ui BB HI 5 —rh MBI —rhy
230 | T FLIX 24520602001913 sepktotokiokiokk 3058 1X SN m= (D Wyl | B SN SN
231 | #{=TH HTIX 24520602001914 skkRRRk k% 080029 BB A5 = AD X k'S BB HI 5 MBI — 2y
232 | M FLIX 24520602001917 sepoltotokietskiork ] 1015X SN — m= D Wl 5% SN — SN —
233 | AT T X 24520602001918 sefoltotoldotiok 1 40033 TN A5 —rp m= (D /B3 U TN A5 — rp BN — ey
234 | T FTIX 24520602001924 stk 0401 1X SN — m= (18) ke | B SN — SN —
235 | AT HTX 24520602001930 sotliioolioek 80072 TN G5 — rp = (18 HERFR 5 TN A5 — rp SN —rhey
236 | 1T FTIX 24520602001936 soslioliok 1 84021 SN — m= (18) Bl | & SN — SN —
237 | AT ENTIX 24520602001940 sefoliotolotolork 0632 19 BN G5 —rpey = (18) MR 5 TN A5 — rp2 BN G5 —poy
238 | M- KX 24520602001941 sk 310125 SN m= (18 REUR | & SN SN
239 | AT X 24520602001942 sestlicoRioek ] 20158 TN B E B= (18 JHZE T U SO SN
240 | T TX 24520602001943 stk 60214 SN — m= (18 ik 5% SN B — SN —
241 | =T VLI 24520602001946 seiokioploork 112456 BB M= A8 FH 35t 5 BB S BB L
242 | T TIX 24520602001949 stk 310010 SN — "= (18 KRR % SN — SN
243 | AT HTX 24520602001951 sefoltotoldotoionk 1 70072 TN A5 — rp = (18 H A Ui TN A5 — rp BN B8 —rpey
244 | M= FLIX 24520602001952 | skiii230017 BBy F= (18) RRE | B SN T SNBSS
245 | AT FNTIX 24520602001953 sefkioRok ] 67642 TN A5 — 2 = (18) Fih '8 TN A5 — 2 BN —pey
246 | T FLIX 24520602001954 sefoltotokotkiokk(0 1 002X SN — m= (18 A | & SN SN
247 HiA T FTIX 24520602001965 selofloflolololk 1 40172 BN B WA = (18) WA % BN B BN
248 | M= FTIX 24520602001968 stttk 27324 1 SN — m= (18) WFiE | & SN — SN —
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249 | T ELIX 24520602001969 sk 280086 SN — m= (18) JHEY S SN — SN
250 | AT LK 24520602001970 wRkpRk ekt 50023 SN E wm= (18 FZE '8 SN E SN BB
251 | M= FTIX 24520602001979 stk ] 90049 SN — m= (19 Mg | & SN — SN —
252 | AT HTX 24520602001984 skt 240068 TN B —rpog wm= (19 EHME | & TN A5 — rp SN —hey
253 | =T FTIX 24520602001986 stk 095478 SN — m= (19 1 % SN — SN —
254 | HRA=TH FTIX 24520602001987 seiotioRotsoik [ 57154 B ey = A9 X 5 5 BN HA 5 v B
255 | M= KX 24520602001988 skt ] 828 1X SN m= 9D B | 5% SN SN
256 | AT HLIX 24520602001993 seioiopkotoekk 240017 SO S = (19 LN 5 SO 5 By
257 | M TX 24520602001994 spkliiliioek021219 SN B — m= 9D I 5% SN — SN —
258 | AT HTX 24520602001996 stttk 22004 1 SN GE A — ey (= Q)] TR | X« TN G5 — rp SN G5 —rhey
259 | M TIX 24520602002001 stk 270035 SN — "= 19D =R | B SN — SN —
260 | HA{=TH T X 24520602002003 seickiopkork 191676 BB HI 5 —rh = A9 k5 5 BB HI 5 —rh MBI —rhy
261 | =T FLIX 24520602002004 sefoktotokiosiork ] 20154 SN m= (19 MRl | % SN SN
262 | HA{-TH HTIX 24520602002009 skkRRk kR %040075 BB A5 = A9 JiEB 5% BB HI 5 MBI — 2y
263 | M FLIX 24520602002012 seplotokiokiokk 260063 SN — m= (9D wERE | & SN — SN —
264 | M- T X 24520602002013 sefltololdotolokk 256 72X BB —hey =9 ST '3 SN SN EE
265 | M- FTIX 24520602002015 skl 209816 SN — m= (19 ERTF 5% SN — SN —
266 | AT HTX 24520602002026 seflkiolok (035545 TN G5 — rp wm= (19 Ak | & TN B —rpog SN —rhey
267 | T FTIX 24520602002027 stk 220015 SN — m= (19 TR 5% SN — SN —
268 | AT ENTIX 24520602002033 stefoltotoldotkork 2701 2X BN G5 —rpey = 20 Bz S TN A5 — rp2 BN G5 —poy
269 | 1T KX 24520602002035 stk 200012 SN m= (20 iR | 9 SN SN
270 | AT HTX 24520602002036 sefoltololotioik ] 45814 TN A5 — rp2y wm= 20 LZEIRN U TN A5 — rp2y BN —hey
271 | T TX 2452060200204 1 sopklioiliioek0 11186 SN — m= (20 R | & SN B — SN —
272 | AT HTX 24520602002042 stefoltotolsotookork 240027 SN G — ey = (20) BEm | & TN A5 — rp SN —hey
273 | T TIX 24520602002052 stk 020 06X SN — m= (20 e % SN — SN
274 | H{=TH T X 24520602002053 seiokiopioork 1 1002X BB HI 5 — = 20 TEERE L BB HI 5 — MBI —rhy
275 | =T FLIX 24520602002061 sepotokiookk 280220 SN m= (20 IR | & SN — SN
276 | AT FNTIX 24520602002067 sk 030093 TN A5 — 2 = (20 SEM] 5 TN A5 — 2 BN —pey
277 | M FLIX 24520602002072 sepolotokiosiork 1 60109 SN — m= (20 MM | & SN SN
278 | AT FTX 24520602002075 seioiopkotoietk [ 20059 SO S = (20) (LN 5 BN S By
279 | T FTIX 24520602002076 stk 70054 SN — m= (20 HOM | B SN — SN —
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280 | M=l ELIX 24520602002077 sotpkiotkok 250012 SN — m= (20 K 5 5% SN — SN
281 | HfT HTX 24520602002090 setkioRioek ] 30059 TN B —rhy m= D Lt U TN A5 — rp UL ol Sl 2
282 | =T FTIX 24520602002094 stk 280 06X SN — m= 2D gt | & SN — SN —
283 | AT HTX 24520602002098 sk 234224 TN A5 — rp m= 2D T | & TN A5 — rp SN —hey
284 | =T FTIX 24520602002099 stk 080023 SN — m= 2D G k8 SN — SN —
285 | HAA=T ENTIX 24520602002101 seflotoldotlork06003X BN G5 —rpey = D i 1 5 TN A5 — 2 BN G5 —rpay
286 | 1T KX 24520602002102 sopkiotkook | 33213 SN m= 2D MRy | 3 SN SN
287 | AT X 24520602002104 setiokioek 040055 TN B E m= 2D P SC U BN EE —p2y SN
288 | M=l TX 24520602002106 stk 060098 SN B — m= 2D [mEE 5% SN — SN —
289 | AT HTX 24520602002107 sefoliotolotork 040017 SN GE A — ey (= AP FH e 45 U TN G5 — rp SN G5 —rhey
290 | H=T TIX 24520602002108 sopkiiotlioek ] 30034 SN — m= 2D R85 % SN — SN —
291 | AT HTX 24520602002110 sefolotolotokork (055224 TN A5 — rp m= 2D ki | & TN A5 — rp SN B —rpey
292 | =T FLIX 24520602002116 sepkotokiokiokk030036 SN m= 2D F2 5 % SN SN
293 | =T HTIX 24520602002117 seloflofloioliolk 140019 BN WA = 2D REM 5 BN BB BN BB
294 | T FLIX 24520602002122 sepokotokiokiokk 210095 SN — m= 2D ZE—M 5% SN — SN —
295 | AT T X 24520602002123 setiooRiook 220055 TN A5 —rp B= 2D eLR ] 5 TN B —rpoy UL ol Sl 2
296 | AT FTIX 24520602002124 otk 220252 SN — m= 2D RERE T % SN — SN —
297 | AT HTX 24520602002143 skl 271025 TN G5 — rp W= (22) HE W S TN A5 — rp SN —rhey
298 | =T FTIX 24520602002148 sotpiotlkek0521 10 SN — m= (22) R T % SN — SN —
299 | =T FTIX 24520602002149 seloflofiokioliok 2900 1 X BN m= (22) = L BN BN WA
300 | AT KX 24520602002151 otttk 1 71271 SN H= 22 B % SN SN
301 | AT X 24520602002152 sopticoRioek 201375 TN B E = 22) fArkA U BN B —h2y SN
302 | M TX 24520602002154 stk 069825 SN — m= 22 BE | & SN B — SN —
303 | AT HTX 24520602002155 stefoltotolsotookork 041215 SN G — ey = (22) EACEE U TN A5 — rp SN —hey
304 | AT TIX 24520602002156 stk 10042 SN — m= (22) mER | & SN — SN
305 | AT HTX 24520602002160 sefltotoldotkork (02004 1 TN A5 — rp = (22 WG S TN A5 — rp BN B8 —rpey
306 | AT FLIX 24520602002169 stttk 21743 SN m= (22) [ZLE=! g8 SN — SN
307 | AT FNTIX 24520602002171 sk ok 060058 TN A5 — 2 = (22) FRIRPE 5 TN A5 — 2 BN —pey
308 | AT FLIX 24520602002172 sefoktotokioiekk 080077 SN — m=22) Dk 5% SN SN
309 | AT FLX 24520602002174 stk 222819 TN A5 — rp m= (22 sk U TN A5 — rp UL ol Sl 2
310 | =T FTIX 24520602002177 stk ] 5008 1 SN — m= (22) kIt %« SN — SN —
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311 | Ml ELIX 24520602002179 stk 237618 SN — m= (22) ET 5% SN — SN
312 | i FNLIX 24520602002185 ki 289829 MM = (22) B | & AW AW
313 | T FTIX 24520602002186 stk 31006 1 SN — m= (22) Wz | & SN — SN —
314 | =T T X 24520602002188 skkRRk Rk 180043 BB 5 — v = (22 i 71k S BB 5 — v MBI —rh2y
315 | M= FTIX 24520602002190 stk 20069 SN — m= (22) iz | & SN — SN —
316 | H{=TH FTIX 24520602002197 seiokioRooork 280039 BB — 2y =23 R 5 BN HA 5 v BB — 2y
317 | T KX 24520602002201 stk 280039 SN H=(23) LZRIEN % SN SN
318 | AT X 24520602002202 septioerioek 230018 TN A5 — rp2 wm= (23 Lt} 5 TN B 5 — rp2y ULEER ol Sl 2
319 | i TX 24520602002207 stk 28 1630 SN B — F=(23) F 9% SN — SN —
320 | AT HTX 24520602002208 sefoltotolotoork 300052 SN GE A — ey = (23) X T3 AR 5 TN G5 — rp SN G5 —rhey
321 | M TIX 24520602002209 sotpkiiotlioek010136 SN — m= (23) IR % SN — SN —
322 | HAA=T HTX 24520602002212 sefoltotolotork 1 7001 1 TN A5 — rp = (23 RIET) Ui TN A5 — rp SN B —rpey
323 | T FLIX 24520602002216 stttk | 40131 SN mm= (23) R R A % SN SN
324 | HA{=TH HTIX 24520602002219 skkRRkkrRk ] 12449 BB A5 =23 e '3 BB HI 5 MBI — 2y
325 | M FLIX 24520602002222 sefolotokiokokk 250067 SN — H=(23) Eok | & SN — SN —
326 | AT T X 24520602002223 seflotoldotionk 20075 TN B E v m= (23 2B U TN A5 — rp UL ol Sl 2
327 | T FTIX 24520602002234 sotplotRiook 80123 SN — M= (23) HiRE | & SN — SN —
328 | M{=TH T X 24520602002235 skRRRRR kR E%030085 BB 5 — v = 23 2t S BB 5 —rh MBI — 2y
329 | =T FTIX 24520602002236 stk 310127 SN — = (23) Jewy % SN — SN —
330 | =T FTIX 24520602002239 seloflofioioliolx 21006 1 BN m= (23) ENSEE S BN WA BN
331 | M KX 24520602002244 sotpkiotkok(010013 SN H=(23) 95 5% SN SN
332 | AT HNTIX 24520602002245 sefliotoldotoiork 1 00022 SO E wm= (23 B | & SO SN
333 | M TX 24520602002254 stk 250042 SN — m= D KA R % SN B — SN —
334 | AT HTX 24520602002255 sefoltotolsotoork 1 30063 SN G — ey = D ERY | & TN A5 — rp SN —hey
335 | M TIX 24520602002262 stk 090095 SN — m= 2 K | B SN — SN
336 | AT HTX 24520602002264 sefliotoldotoiork06002X TN A5 — rp m= o FRE | & TN A5 — rp BN B8 —rpey
337 | T FLIX 24520602002267 stttk 02811 SN m= 2 EISRi % SN — SN
338 | =T HTIX 24520602002268 selofloflokioliolk 1 10033 BN WA = (24) [EE: % BN BB BN
339 | M FLIX 24520602002270 sefoktotokioriokk 2301 54 SN — m= D R 5% SN SN
340 | =T FTX 24520602002273 seriekioRRk 27028 1 BB = (24) TR BB BB — 2y
341 | T FTIX 24520602002275 stk 70016 SN — m= 2D R | 9 SN — SN —
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342 | M ELIX 24520602002277 stk 286939 SN — m= 2 e T B 5% SN — SN
343 | AT HTX 24520602002278 septlioekioes ] 7003X TN B —rhy m= D rializ 5 TN A5 — rp UL ol Sl 2
344 | T FTIX 24520602002283 stk 0908 1X SN — m= 2D Tk % SN — SN —
345 | =T T X 24520602002291 skRRRRR kR E% 230028 BB 5 — v = 2D T i L BB 5 — v MBI —rh2y
346 | M- FTIX 24520602002292 stk | 20087 SN — m= 2 eith | & SN — SN —
347 | =T FTIX 24520602002296 seioioRorrk050173 BB — 2y = (24) B 5 BN HA 5 v BB — 2y
348 | =T KX 24520602002297 stk 70039 SN m= D E17) U SN SN
349 | AT X 24520602002299 septlioelkioek070150 TN B E m= o Bttt 5 SO SN
350 | MM TX 24520602002308 stk | 54889 SN B — = (25) XHEIE | & SN — SN —
351 | M= HTX 24520602002311 sefoliotoldotoork 191617 SN GE A — ey = (25) FRTTHG 5 TN G5 — rp SN G5 —rhey
352 | M= TIX 24520602002313 stk 06 181X SN — = (25) B % SN — SN —
353 | M- HTX 24520602002317 sefliotolotiork 1 50050 TN A5 — rp = (25 R 5 TN A5 — rp SN B —rpey
354 | M= FLIX 24520602002319 sefolotokiokiokk 260078 SN = (25) WHEIT | 5 SN SN
355 | HA{=TH ITX 24520602002324 seiokioRlork29 0048 BB A5 = (25) X % By MBI — 2y
356 | AT FLIX 24520602002333 sepokotokioiokk 300013 SN — H= (25) R | B SN — SN —
357 | AT FTIX 24520602002335 sefltotoldotlokok 20005 1 TN A5 —rp = (25 B U TN A5 — rp BN — ey
358 | M= FTIX 24520602002340 stk 025612 SN — = (25) i 5% SN — SN —
359 | AT HTX 24520602002344 seplkioiork 190014 TN G5 — rp W= (25 R 5 TN A5 — rp SN —rhey
360 | T FTIX 24520602002350 stk | 30028 SN — = (25) HARZ g8 SN — SN —
361 | H{=TH FTIX 24520602002352 seiokiopkork 100098 BB — 2y = (25) 2 FTvas 5 BB HA 5 BB — 2y
362 | T KX 24520602002354 sopkiotkok ] 20025 SN H= (25 EBHE | & SN SN
363 | AT X 24520602002355 septicoorioek 84915 TN B E = (25) oA U TN A5 — rp2y ULEER ol Sl 2
364 | T TX 24520602002372 stk 240028 SN — = (26) KEH % SN B — SN —
365 | AT VLI 24520602002378 seoioRotokk070012 B = (26) TLEGIE U SO A MG
366 | ATl TIX 24520602002383 stk 059836 SN — "= (26) UES S % SN — SN
367 | H{=TH T X 24520602002385 seickiopoerk 190090 BB HI 5 — = (26) ok 5 BB HI 5 — MBI —rhy
368 | M- FLIX 24520602002388 sepoktotokiosiork ] 20053 SN = (26) XINFE | 5 SN — SN
369 | AT FNTIX 24520602002389 stk 09005 1 TN A5 — 2 = (26) X 5 TN A5 — 2 BN —pey
370 | T FLIX 24520602002394 sefoltotokiookk 280087 SN — H=(26) e % SN SN
371 HiA T FTIX 24520602002395 seloflofoioiolk 1 00102 BN B WA m= (26) Veri: ] % BN BB BN
372 | T FTIX 24520602002397 sotpkiiotlioek( 10054 SN — = (26) E3 L % SN — SN —
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373 | M ELIX 24520602002405 sopiokok 081032 SN — = (26) g | 5 SN — SN
374 | AT FNTIX 24520602002413 sk 1 80070 SN E = (26) Mg U SN E SN BB
375 | T FTIX 24520602002419 stk 40079 SN — m= 2D Witg s % SN — SN —
376 | =T T X 24520602002431 skkRRRk kR % 242319 BB 5 — v = 2D 7B 5 BB 5 — v MBI —rh2y
377 | T FTIX 24520602002432 stk 050030 SN — m= 2D LA % SN — SN —
378 | HA{=TH FTIX 24520602002434 seickioplork 50016 BB — 2y m= QD e 5 BN HA 5 v BB — 2y
379 | T KX 24520602002439 skt 1 40050 SN m= @D wmTE | B SN SN
380 | AT X 24520602002442 sestioekioek 300039 TN A5 — rp2 B= 2D RS U TN B 5 — rp2y ULEER ol Sl 2
381 | Ml TX 24520602002444 stk 100014 SN B — m= 2D BcE | % SN — SN —
382 | M= T X 24520602002447 setoioploork 160044 MBIy = QD ikt S BB S MBIy
383 | M=l TIX 24520602002448 stk 90102 SN — m= 2D Fihith % SN — SN —
384 | H{=TH T X 24520602002451 seokioplorork25004X BB HI 5 —rh = 2D TeliE « BB HI 5 —rh MBI —rhy
385 | M= FLIX 24520602002452 sepoktotokioiokk 310109 SN m= 2D RS | & SN SN
386 | AT FNTIX 24520602002453 sekkioRork 080 1 24 TN A5 — 2 m= 2D W5 '3 TN A5 — 2 BB — ey
387 | Ml FLIX 24520602002455 sefoltotokiotiolk | 30074 SN — m= 2D K 5% SN — SN —
388 | AT FLX 24520602002457 sestioooRiook 240425 TN A5 —rp m= 2D FHFE | & TN B E v BN — ey
389 | M- FTIX 24520602002458 stk 70056 SN — m= (2D i 58 5% SN — SN —
390 | =T T X 24520602002475 skkRRRR kR %240020 BB 5 — v = (28) FHRE s B e MBI — 2y
391 | T FTIX 24520602002476 stk 00013 SN — mm= (28) 2 % SN — SN —
392 | M= FTIX 24520602002477 selofloflolioliolk 2 10044 BN H= (28) pufre: s BN WA BN
393 | T KX 24520602002479 sopkiotkok ] 10063 SN H= (28 XEEE | & SN SN
394 | AT X 24520602002484 setiookioek 1 70056 TN B E wm= 28 T U SO SN
395 | M TX 24520602002485 stk 280050 SN — H=(28) LZES 5% SN B — SN —
396 | AT HTX 24520602002487 stefoltotolsotoiork 1 10034 SN G — ey = (28) W Hi e 9 TN A5 — rp SN —hey
397 | M TIX 24520602002488 stk 70019 SN — = (28) T % SN — SN
398 | HAA-T HTX 24520602002492 sefliotoldotiork04 1116 TN A5 — rp = 28 C31p)2 5 TN A5 — rp BN B8 —rpey
399 Hi AT HITIX 24520602002494 scketsokkkokk 0228 1 0 M B h E=(28) setags | M S — 2 oY Iy et i
400 | AT FNTIX 24520602002504 sk 240053 TN A5 — 2 = (28 B 7S 5 TN A5 — 2 BN —pey
401 | =T FLIX 24520602002505 sefokiotokiokiokk 290050 SN — H= (28 EHEH 5% SN SN
402 | AT FNLIX 24520602002506 swkikioRkkoRk 180040 BN B —rhy = (28) ik i< '8 TN B —h2y TN —rhy
403 | =T FTIX 24520602002511 stk 310022 SN — M= (28) WEL | & SN — SN —
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404 | AT ELIX 24520602002512 stk 05 3232 SN — M= (28) Ei ] SN — SN
405 | AT HTX 24520602002516 setioeoRioek 28 3558 TN B —rhy wm= (28 SR U TN A5 — rp UL ol Sl 2
406 | AT FTIX 24520602002527 stk 1 2006 1 SN — m= (29 Wz | & SN — SN —
407 | AT HTX 24520602002528 skl 220066 TN A5 — rp wm= 29 BB S TN A5 — rp SN —hey
408 | 1= FTIX 24520602002533 stk 280813 SN — m= (29 BEHE | 9 SN — SN —
409 | H{=TH FTIX 24520602002534 seickiopork2 10036 BB — 2y = 29 T JH 5 BN HA 5 v BB — 2y
410 | =T KX 24520602002542 stk ] 80045 SN m= (29 1 H % SN SN
411 | T X 24520602002543 sestioekioek 030064 TN B E wm= 29 fEIRE | &« SO SN
412 | T TX 24520602002546 stk 263034 SN B — F= (29 B 5% SN — SN —
413 | AT HTX 24520602002547 stefoltotolsotork 300 1 34 SN GE A — ey = (29 3% 3 5 TN G5 — rp SN G5 —rhey
414 | T TIX 24520602002550 stk | 50022 SN — m= (29 PR | & SN — SN —
415 | =T HTX 24520602002552 sefolotoldotkolk (097215 TN A5 — rp m= 29 FHE 5 TN A5 — rp SN B —rpey
416 | =T FLIX 24520602002557 sefoktotokiokskiolk | 14126 SN m= (29 R | & SN SN
417 | =T HTIX 2452060200256 1 skkRRk R REx 250078 BB A5 = 29 RSN 5 BB HI 5 MBI — 2y
418 | =T FLIX 24520602002563 sefolotokioiork(0 10213 SN — m= (29 XPERR |5 SN — SN —
419 | AT T X 24520602002565 seflotoldotloork0900 18 TN A5 —rp m= 29 P U TN A5 — rp BN — ey
420 | AT FTIX 24520602002584 stttk 25081 1 SN — = (30) A % SN — SN —
421 | AT HTX 24520602002586 sk 2604 22 TN G5 — rp wm= (30 Mraie | & TN A5 — rp SN —rhey
422 | =T FTIX 24520602002587 stk 310025 SN — = (30) b g8 SN — SN —
423 | =T FTIX 24520602002588 seloflofloioliol 260181 BN = (30) X FHL ks BN BN
424 | T KX 24520602002589 stk ] 70083 SN H= 30 HmfE | & SN SN
425 | AT X 24520602002592 sesticokioek 019828 TN B E wm= 0 FEE | & BN B —h2y SN
426 | T TX 24520602002600 stk 280064 SN — H= (30 R | X SN B — SN —
427 | AT VLI 24520602002601 seiokioplorerk06 0120 BB = (30 SN k' BB S BB L
428 | =T TIX 24520602002606 stk | 50068 SN — "= (30) BiRIE | & SN — SN
429 | =T T X 24520602002608 seiokioplork2 1 982X BB HI 5 — = (30 J7 5 L BB HI 5 — MBI —rhy
430 | =T FLIX 24520602002609 seplotokiokiok k260065 SN = (30) BigfE | & SN — SN
431 | =T FNTIX 24520602002615 sk 1 70029 TN A5 — 2 = (30) wHe | & TN A5 — 2 BN —pey
432 | T FLIX 24520602002625 sepolotokioiekk060 167 SN — m= (3D Freas | & SN SN
433 | H{=TH FTX 24520602002626 sekiokioRoRk 264949 BB = 3D it '3 BB BB — 2y
434 | T FTIX 24520602002634 setpkiiolioek 180140 SN — m= (3D LW | & SN — SN —
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435 | T ELIX 24520602002641 sopkiotkok 1 90139 SN — m= (3D R 5% SN — SN
436 | AT FNLIX 24520602002642 ki 083225 MM = 3D xiE | & AW AW
437 | T FTIX 24520602002643 stk 30068 SN — m= (3D HEd | & SN — SN —
438 | M= T X 24520602002645 skRRRRk R %09 0043 BB 5 — v = 3D e L BB 5 — v MBI —rh2y
439 | =T FTIX 24520602002659 stk 1 00019 SN — mm= (32) S 5% SN — SN —
440 | RA=THE FTIX 24520602002661 seioiokotoekk23 7663 B ey = (32) TR ks BN HA 5 v B
441 | T KX 24520602002662 stk 72026 SN H= (32 EWE | & SN SN
442 | HI{=TE HLIX 24520602002666 seioiopkotoelk [ 78117 SO S = (32) fr <5 i 5 SO 5 By
443 | T TX 24520602002675 stk 310042 SN B — = (32) B | & SN — SN —
444 | AT HTX 24520602002676 stefoltotolotoork (030012 SN GE A — ey = (32) 75 5 TN G5 — rp SN G5 —rhey
445 | T TIX 24520602002677 sotpiotkoek021133 SN — = (32) &7 % SN — SN —
446 | =T T X 24520602002680 setoioplork 290148 BB HI 5 —rh = (32) I « BB HI 5 —rh MBI —rhy
447 | T FLIX 24520602002681 sepotkiosiork | 60068 SN mm= (32) B | & SN SN
448 | HA{=TH HTIX 24520602002682 skRRRRR R X06002X BB A5 = (32) LZLERS '3 BB HI 5 MBI — 2y
449 | T FLIX 24520602002684 sefoktotokiokek 160101 SN — H=(32) BT | & SN — SN —
450 | AT T X 24520602002692 stk 240066 TN A5 —rp = (32) TR '8 TN A5 — rp BN — ey
451 | =T FTIX 24520602002699 stk 294919 SN — M= (32) Eis2 5% SN — SN —
452 | =T T X 24520602002710 skkRRRk kR %050103 BB 5 — v = (33 B HE S BB 5 —rh MBI — 2y
453 | =T FTIX 24520602002711 stk 30048 SN — = (33) WK | & SN — SN —
454 | H{=TH FTIX 24520602002714 seokioploork 104187 BB — 2y = (33) 2T S BB HA 5 BB — 2y
455 | M= KX 24520602002715 sopotlkek(010127 SN H= (33 fE28 | & SN SN
456 | AT X 24520602002717 seplioekioek03009X TN B E = (33 HH L 5 TN A5 — rp2y ULEER ol Sl 2
457 AT T X 24520602002718 skl kiokkkor | 70144 BN G B (33) NG 4 NG A2 NG S — 2
458 | AT HTX 24520602002719 stefolotolotookork 2854 29 SN G — ey = (33) TEE | & TN A5 — rp SN —hey
459 | =T TIX 24520602002720 stk ] 90068 SN — = (33) B % SN — SN
460 | HA{=TH T X 24520602002721 seiekioRlooRk29 3646 BB HI 5 — = (33 BT % B — e MBI —rhy
461 | =T FLIX 24520602002722 sepoktotokiokiokk 290095 SN = (33) fEEX | B SN — SN
462 | AT FNTIX 24520602002723 sk 090 1 29 TN A5 — 2 W= (33 PALES '3 TN A5 — 2 BN —pey
463 | T FLIX 24520602002727 sefoltotokotkiork | 80044 SN — = (33) WA | & SN SN
464 AT FTIX 24520602002731 sk 23004 1 SO S = (33) W % BN S SO S
465 | =T FTIX 24520602002734 stk 020069 SN — M= (33) 1) R S SN — SN —
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466 | A1 ELIX 24520602002736 stk 51389 SN — = (33) akicl S SN — SN
467 | AT T 24520602002738 seottkickokok 090036 B AW —rh = (33) ke | B B AW —rh TG
468 | 1T FTIX 24520602002744 sttt ] 8002X SN — = (34 ke | & SN — SN —
469 | M= T X 24520602002746 skkRkRkRkRE% 130068 BB 5 — v = 3D 1 W I ks B —rheg MBI —rh2y
470 | =T FTIX 24520602002748 stk | 00280 SN — m= (3 REFE | & SN — SN —
471 | =T FTIX 24520602002751 setokiopkrk 22005 1 BB — 2y = (34) RV 5 BN HA 5 v BB — 2y
472 | T KX 24520602002754 stk 230047 SN H= D AR | & SN SN
473 | AT X 24520602002755 septliorRioek ] 10065 TN B E B= D B | L SO SN
474 | M TX 24520602002759 stk 79249 SN B — m= D BIKR | & SN — SN —
475 | AT HTX 24520602002762 sefoliotolotork 280069 SN GE A — ey = (34 fetEm | %« TN G5 — rp SN G5 —rhey
476 | T TIX 24520602002764 stk (070117 SN — m= (3 X iz 5% SN — SN —
477 | HI{=TE T X 24520602002766 seiokioRlorrk22008X BB HI 5 —rh = 3D T 5 S BB HI 5 —rh MBI —rhy
478 | =T FLIX 24520602002767 sepktotokiokiork | 80164 SN m= (34) wEE | X SN SN
479 | H{=TH HTIX 24520602002771 skkRRk kR x211614 BB A5 = (34) FENER 5 MBI — 2y MBI — 2y
480 | M= FLIX 24520602002773 sepolotokiookk 280 1 28 SN — m= D HEte | & SN — SN —
481 | A= FHLIX 24520602002775 kiRl kRk 280065 TN —rp2y = 3D L1 '8 TN BB —rh2y TN —rhy
482 | =T FTIX 24520602002777 skl 140106 SN — m= (34 FEN | & SN — SN —
483 | =T HTX 24520602002778 stk 05 1 226 TN G5 — rp wm= D E S TN A5 — rp SN —rhey
484 | =T FTIX 24520602002780 stk 30010 SN — [SENEYY) EHRT 5% SN — SN —
485 | AT ENTIX 24520602002781 sefoltotoldotiork 200 199 BN G5 —rpey = (34 NN 5 TN A5 — rp2 BN G5 —poy
486 | 1T KX 24520602002782 stk 1 00041 SN H= D B | X SN SN
487 | ML= X 24520602002783 seticoRioek ] 70028 TN B E m= GO Fl '8 SO SN
488 | M=l TX 24520602002788 stk | 70027 SN — m= D ETE | & SN B — SN —
489 | AT HTX 24520602002789 sefliotolotoork 1 00089 SN G — ey = (34 BIEH | & TN A5 — rp SN —hey
490 | =T TIX 24520602002796 stk 284483 SN — "= (35) BB | & SN — SN
491 | H{=T T X 24520602002797 seickioplorork2 30040 BB HI 5 — = (35 AR ks B — e MBI —rhy
492 | M= FLIX 24520602002799 | skiia270045 BBy = (35) Z4E k'S SN T SNBSS
493 | =T FNTIX 24520602002802 sk 030059 TN A5 — 2 = (35) wiE 5 TN A5 — 2 BN —pey
494 | T FLIX 24520602002803 sefolotokiokiokk 300024 SN — = (35) P | & SN SN
495 | AT FUTIX 24520602002806 ki 060073 AW = (35) W | 5 AW AW
496 | =T FTIX 24520602002809 stk 220085 SN — = (35) kel | & SN — SN —
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497 | T ELIX 24520602002811 sopkiotkok 060013 SN — = (35) VEF 5% SN — SN
498 | AT HTX 24520602002814 setiooRioek 90182 TN B —rhy = (35 WEE | & TP BB —hey
499 | =T FTIX 24520602002818 sttt 10028 SN — = (35) 8 | & SN — SN —
500 | AT HTX 24520602002820 soptliorlioek 040042 TN A5 — rp = (35 e u TN A5 — rp SN —hey
501 | AT FTIX 24520602002821 sotpkioliook 250416 SN — = (35) BmEME | 5 SN — SN —
502 | AT ENTIX 24520602002822 sefoliotoldotork (040024 BN G5 —rpey = (35) JkaFiE | % TN A5 — 2 BN G5 —rpay
503 | AT KX 24520602002826 stk 254032 SN = (35) ES b % SN SN
504 | HAZT X 24520602002828 sefoliotoldotiork 1 80044 TN B E W= (35 FH | & TN B 5 — rp2y TN B —rpoy
505 | A1l TX 24520602002829 stk 250108 SN B — = (35) iRl | & SN — SN —
506 | AT HTX 24520602002830 stefltotolotokokk 26 008X SN GE A — ey = (35) kiR | & TN G5 — rp SN G5 —rhey
507 | 1T TIX 24520602002832 stk 7004X SN — "= (35) i | & SN — SN —
508 | 1T HTX 24520602002845 sefltotolsotiork ] 3002X TN A5 — rp = (36) Bam | « SN B —rpog SN B —rpey
509 | A= FHLIX 24520602002848 sepkkkivoiok 50038 S = (36) FEW | B S S
510 | H{=TH HTIX 24520602002849 skkRRRk Rk 012821 BB A5 = (36) XitE k'S BB HI 5 MBI — 2y
511 | M=l FLIX 24520602002855 sefoltotokotskiolk ] 60024 SN — = (36) A | & SN — SN —
512 | M- T X 24520602002856 sefliotolotiork07 005X TN A5 —rp = (36) RN U TN A5 — rp BN — ey
513 | Hf=Tl FTIX 24520602002859 sttt | 60072 SN — m= (36) IR % SN — SN —
514 | AT HTX 24520602002860 skt 280055 SN — = (36) REZ 5 SN B —h2 SN —
515 | M=l FTIX 2452060200286 1 stk 10043 SN — = (36) W | & SN — SN —
516 | AT ENTIX 24520602002862 stttk 20444 1 BN G5 —rpey H= (36) M kS TN A5 — rp2 BN G5 —poy
517 | =T KX 24520602002863 sotpkiolook 235820 SN H=(36) W | X SN SN
518 | A4 HTX 24520602002867 sefltotoldotioork ] 10022 TN A5 — rp2y W= (36) R | & TN A5 — rp2y TN B —rpoy
519 | Hif=il TX 24520602002871 stk 220045 SN — = (36) HEML | & SN B — SN —
520 | AT HTX 24520602002873 sefoltotoldotoork 200024 SN G — ey = (36) iET | & TN A5 — rp SN —hey
521 | M= TIX 24520602002876 stk 02015 1 SN — = (36) PR % SN — SN
522 | HRA-T HTX 24520602002880 sefoliotolotork 060079 TN A5 — rp = (36) TR 5 TN A5 — rp BN B8 —rpey
523 | =T FLIX 24520602002882 sepoktotokiosiokk 301220 SN = (36) [ZE3 g8 SN — SN
524 | HA{=TH HITIX 24520602002885 skkRRk k% 190087 BB HIA 5 = (36) [ '3 BB HI 5 BB — 2y
525 | M1l FLIX 24520602002889 sefoltotokiotsok 80029 SN — = (36) dam | & SN SN
526 | H{=TH FTX 24520602002896 seiokiopkork 140052 BB = (3D X fE 5 BN S TN —rhy
527 | M= FTIX 24520602002898 stk 220042 SN — m= (3D PAIDIN I S SN — SN —
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528 | A1l ELIX 24520602002899 ookt (05020 1 SN — m= (3D Freadk | & SN — SN
529 | AT T 24520602002902 AR DT 322X MM = (3D LZE] '8 B AW —rh TG
530 | 1T FTIX 24520602002904 stk 32038 SN — m= (3D i 5% SN — SN —
531 | Hi{=Th T X 24520602002906 skkRRRk k% 233083 BB 5 — v = (3D RiEE S BB 5 — v MBI —rh2y
532 | M= FTIX 24520602002907 setpkiotlioek 280046 SN — m= (3D gl | & SN — SN —
533 | =T FTIX 24520602002911 selofloflokioliol 250023 BN BB = 3D [R5 S BN WA BN
534 | M1 KX 24520602002915 stk 030053 SN H= 3D eSSk % SN SN
535 | AT X 24520602002916 sepliceokioek030040 TN A5 — rp2 wm= D RER | & TN B E v BN — ey
536 | A1l TX 24520602002926 stk [ 20079 SN B — m= 3D FER | B SN — SN —
537 | AT HTX 24520602002929 stefoltotolsotookork 240044 SN GE A — ey = (3D W | & TN G5 — rp SN G5 —rhey
538 | M=l TIX 24520602002931 stk 70049 SN — m= (3D ek | & SN — SN —
539 | H{=TH T X 24520602002932 seokioploork2 30048 BB HI 5 —rh = 3D i I S BB HI 5 —rh MBI —rhy
540 | =T FLIX 24520602002933 sepkiotokiokkiokk 280106 SN m= (3D fagd g8 SN SN
541 | H{=TH HTIX 24520602002935 sRRRRR R %29 0023 BB A5 = 3D R '3 BB HI 5 MBI — 2y
542 | AT FLIX 24520602002947 sefoktotokiotokk(04 1397 SN — = (38) FEFE | B SN — SN —
543 | AT T X 24520602002953 sefltotoldotiors 1 30140 TN A5 —rp = (38 Jit '8 TN A5 — rp BN — ey
544 | T FTIX 24520602002954 stttk 22006 1 SN — = (38) w#E | & SN — SN —
545 | =T T X 24520602002964 skkRRk k% 120079 BB 5 — v = (38) AL 5 BB 5 —rh MBI — 2y
546 | 1T FTIX 24520602002967 stk 090020 SN — = (38) BRem | & SN — SN —
547 | HA{=TH FTIX 24520602002969 seickioploik 1 756 2X BB — 2y = (38) e L BB HA 5 BB — 2y
548 | 1T KX 24520602002973 ook ] 25221 SN = (38) ZEy % SN SN
549 | HAZT X 24520602002974 setioRiook 260123 TN B E wm= (38 EBR '8 TN B E v BN —hey
550 | M1l TX 24520602002977 stk | 20046 SN — = (38) TR | & SN B — SN —
551 | AT HTX 24520602002979 stefoltotolsototonk 1 70027 SN G — ey = (38) W | & TN A5 — rp SN —hey
552 | M= TIX 24520602002980 stk 040084 SN — = (38) K | & SN — SN
553 | AT HTX 24520602002983 sefoltotolotork(030 148 TN A5 — rp = (38 W%k | & TN A5 — rp BN B8 —rpey
554 | M= TIX 24520602002985 stk 056029 SN = (38) HEER | & SN — SN
555 | M- FNTIX 24520602002990 setkiorok 1 402011 TN A5 — 2 = (38) it | & TN A5 — 2 BN —pey
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